6 A student used the triangle and equation shown to find x, the missing
side length.

9 JF+16° = x

16

Which equation shows the correct result of the first step?

\/81+25 =x
\f18-|-32 =X

C 9+16=x
D.

252 =



6 A student used the triangle and equation shown to find x, the missing
side length.

x
9\ JH167 = x
1]
16

Which equation shows the correct result of th




7 - Triangle AOC intersects a circle with center O. Side AO is 10 inches (in.)
and the diameter of the circle is 12 in., as shown below.

A

17 in.

12 in, B

What is the length of 8C?

A 10 inches
B. 14 inches
C. 15 inches

D. 16 inches



7 - Triangle AOC intersects a circle with center O. Side AO is 10 inches (in.)
and the diameter of the circle is 12 in., as shown below.

A
\ 17 in.
12 in - 0 | \B

rSrmz&Q Q__F{ b% I

T N '7__} b ¢ 2
What is the length of 8C? O.2+(D7—: \O’l @2+ng 1-’]
A 10 inches a'z'l' Bl= (0O 0@_]—(11{/ 280\
B. ldiinches A= (o4 7_26
§ 15 inches ez 1m ﬁ;\%
D. 16 inches 2 g - I6



8. Which set of measurements could be the side lengths of a right triangle?
A {3in.,S5in., 7in.}
B {6in.,9in., 12 in.}
c. {8in.,15in.,17 in.}
0. {10in., 20 in., 30 in.}



8. Which set of measurements could be the side lengths of a right triangle?
K g3in,sin,7iny A5 2 1" ap952 %QW
A Aein, 9in, 12in) (P r Tz 0t 3ppgl= 1 (494
O tsin,1sin, 1700 g2 4 627 (4925:919 9780

0. {10in., 20in., 30 In.}



The shortest side of a right triangle is 7.2 centimeters long and the

longest side is 15.5 centimeters long. What is the length, to the nearest
tenth of a centimeter, of the third side?

A  8.3cm
B. 11.4cm
C. 13.7cm

D. 17.1cm



The shortest side of a triangle i1s 7.2 centimeters long and the
longest side is 15.5 ce eters long. What is the length, to the nearest
tenth of a centimeter, of the third side?

A B.3cm a} —k’\o
8. 11.4cm ’7’)(77/ _ \55

Q o2+ 5181 = 240,25

a” = [98.41

12 {ih

13,72



10.In the figure below is AMNP.

o

M <

What is the area of AMNP?
A 84 cm?

8. 105 cm?

C. 158 cm?

D. 168 cm?



101n the figure below is AMNP.

What is the of AMNP?
Cf 84 cm?) A:‘ibl\

B 105 cm? .
c. 158 cm? A= em

D. 168 cm?



11. A tentis shaped like an isosceles triangular prism with the dimensions
" shown. What is the total surface area, to the nearest tenth of a square
foot, of the tent, including the ground floor?

A 177.2 ft?
B 211.2 ft?
c. 255.1 ft2

D. 302.6 ft?



1 A tent is shaped like an_isosceles triangular prism with the dimensions
" shown. What is the total surface area, to the nearest tenth of a square
foot, of the tent, including the ground floor?

!2%%5(@ C
43,96 = b

g = {2
—— (.99=C

' —~ f=dw= (0Y22) = 72
A 177.2 f2 | Rect = ibh a5N7.3 Y(v)" 43'26“

- 2NE T | 31
L8 21122 ot fd A4 QOVX[/ &ﬁ)
. 7 Rect. S1des = HoAw= . Zh.0




ket out the door.

The perimeter of the rectangle is 36 centimeters.

-

What is the length of the diagonal?

A “08 centimeters
B h44 centimeters
&) ”’16 centimeters
D

ﬂ234 centimeters

2) The figure is a rectangular prism.

12

Note: The figure is not drawn to scale.
What is the length of the diagonal from Point A to F

Round to the nearest tenth.






